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PART A: Grammarﬂ
Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each

sentence. Then mark the correct choice on your answer sheet

66- Did you ... anywhere interesting last weekend?
1) went 2) going 3) was 4) go
67- | work as a teacher and my wife ... , too.

1) work 2)is 3) does 4) do
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68- | think ... taxi driver.

1) her jobis 2)she’s a 3) her job 4) she’s
69- What is your home town ... &

1) like 2) located 3) from 4) situated
70- They ................ go to the cinema.

1) seldom 2) rare 3) much 4) tomorrow
71- Mom gave ... her job when | was born.

1) away 2)in 3) off 4) up
72-lwant: . .k that film.

1) seen 2) seeing 3) to see 4) see
3= s is it from here to Berlin?

1) How long way 2) How long 3) How far 4) How many
74- Hania has got two children, ................?

1) she doesn’t 2) hasn’t she 3) she wasn’t 4) didn’t she
75- AJaguaris ... than a Fiat.

1) very expensive 2) more expensive 3) as expensive 4) much expensive

PART Br;"Rbeadin'g Comprehension
Directions: Read the following passages and choose the best choice (1), (2), (3) or

(4). Then mark it on your answer sheet.

Technology has (76) ... the lives of people in this century. Working with
computers and mobile phones has changed people’s (77) ............ Some people
use their laptops and especially (78) ............ mobile phones everywhere for no
good (79) ............. They have chosen an unhealthy way. To live longer, they
needto(80)......... the way they live, work, and use technology.

76- 1) depressed 2) learned 3) influenced 4) taught
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77- 1) custom 2) history 3) care 4) lifestyle
78- 1) their 2) its 3) whose 4) his

79- 1) reason 2) choice 3) method 4) key
80- 1) carry 2) rethink 3) defend 4) cure

PART C: Reading Comprehension

Directions: Read the following passages and choose the best choice (1), (2), (3) or
(4). Then mark it on your answer sheet.

John liked chocolates very much, but his mother never gave him any, because they
were bad for his teeth, she thought. But John had a very nice grandfather. The
old man loved his grandson very much, and sometimes he brought John
chocolates when he came to visit him. Then his mother let him eat them,
because she wanted to make the old man happy. One evening, a few days
before John's seventh birthday, he was saying his prayers in his bedroom before
he went to bed. "Please, God" he shouted, "make them give me a big box of
chocolates for my birthday on Saturday". His mother was in the kitchen and she
heard the small boy shouting and went into his bedroom quickly. "Why are you
shouting, John?" she asked her son, "God can hear you when you talk quietly" "I

know" answer the clever boy with a smile, "but Grandfather's in the next room,

and he can't".

81- Why did his grandfather sometimes give him chocolate?
1) Because it was good for his health.

2) Because John was a good boy.
3) Because his grandfather loved candy.

4) Because his grandfather loved him.

82- Why did his mother let John eat the chocolate he got from his grandfather?
1) Because she didn't have to pay for it.

2) Because John liked it a lot.
3) To please the old man.

4) To make John happy.
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83- What did he pray to God before his seventh birthday?
1) He wished for some money to buy chocolate.

2) He wanted his grandfather to give him chocolate.
3) He asked for good luck.
4) He begged God to make him a big box of chocolate.

84- Why did he shout when he was praying?
1) So that his mother could hear him.

2) So that God can hear him.
3) So that his grandfather could hear him.
4) So God can hear when he talked quietly.

85- Which sentence is NOT true according to the passage?
1) While he was praying that day his grandfather was in the next room.

2) He wanted a big box of chocolate for his birthday.
3) John was fond of chocolate.

4) His mother was too poor to give him a big box of chocolate.

- L T g L 21 e R

PART A: Grammar :
Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet

86- I'm afraid | ... here for your birthday party.

1) am not being 2) will not to be 3) have not to be 4) can’t be
87-Thecar ..iiuici caused him lots of troubles.

1) which bought 2) that he bought it

3) which he bought 4) he bought it
88-I'm looking ... the summer holidays.

1) forward 2) forward to 3) for 4) before
BO-Mhe el about it, I'm sure he would help. ;

1) knew 2)had been known 3) has known 4) knowing
90- They said they ... come, but they didn’t.

1) might 2) may 3) can 4) will
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91- You have a terrible fever! ... call a doctor?
1) Will | 2) Must | 3) Dol 4) Shall |
92- Do you know where ............. ?

1) put me the keys 2) did | put the keys  3) I put the keys  4) did the keys put me

93- These bottles ... of plastic.

1) are making 2) are made 3) have made 4) have been making
94- We had our house ... last year.

1) paint 2) painted 3) to paint 4) painting
95- I made one or two mistakes, but .............. of my answers were correct.

1) much 2) more 3) most 4) very

PART B: Reading Comprehension
Directions: Read the following passages and choose the best choice (1), (2), (3) or
(4). Then mark it on your answer sheet.

The diseases connected to smoking are a big problem. Doctors think that the
annual medical cost for lung cancer, heart disease, and other illnesses connected
to smoking is between 12 and 35 million pounds.

Furthermore, smoking costs society money in other ways. Between 27 and 61
billion pounds are spent each year on sick days when people do not go to work,
on wages that you don't get when you don't go to work, and on work lost at the
company when you are sick.

This money counts the wages from people who die of cancer at young age and stop
paying taxes. This does not count fire started by cigarettes, which kill fifteen
hundred people yearly and injure another four thousand. Smoking costs every
man, woman and child in the UK from one hundred and ten to two hundred and
fifty pounds each year in the lost work and wages. When you add another fifty
to one hundred and fifty pounds yearly in insurance cost, that comes to one
hundred and sixty to four hundred and ten pounds. If everyone stopped
smoking, a family of four could have up to one thousand six hundred and forty
pounds a year more.

Smoking will also cause other problems. People who do not smoke will live longer,
and so they will take money from the government when they are old. But they
will also work for more years and pay more taxes.

In the end, the value of a non-smoking nation is not in pounds. The good health of
the people is the true value for us all.
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96- If everyone stopped smoking, all the United Kingdom
1) would have less money

2) would have more money
3) would live longer

4) would have no more problems

97- Every year companies lose ... because of the disease.
1)time 2) wages 3) money 4) work

98- If everyone stopped smoking, a family of four could have ........... more each year.
1) from 160 thousand and 410 pounds 2) 160,040 pounds

3) from 1000 pounds to 640 pounds 4) 1,640 pounds

99- The true value for the UK of not smokingis ...
1) good health 2) more working  3) more taxes 4) more money

100- This text is about ...................
1) how much the UK get if everyone stopped smoking

2) diseases that smokers get
3) taxes which are not paid by smokers

4) how much smoking costs the UK



